Question 1 [36% of Grade]
	Section
	Answer
	Grade

	a
	Optimal Policy: s = $10,000, p = 0.03 (3 inspectors)
	              /8

	b
	Optimal Policy: s = $10,000, p = 0.04 (4 inspectors)
	              /8

	c
	Optimal Policy: s = $10,000, p = 0.05 (5 inspectors)
	          /8

	d
	
	         /12

	d.1
	In Sections (a), (b) and (c) the state will invest X = $50,000, and the previous answers will remain unchanged.
	   /4

	d.2
	In Sections (a) and (b) the state will invest X = $100,000, and the previous answers will remain unchanged. 

In Section (c) the state will not invest X = $100,000, and the optimal policy will be: s = $5,000, p = 0.05 (5 inspectors).
	   /4

	d.3
	In Section (a) the state will not invest X = $150,000, and the optimal policy will be: s = $5,000, p = 0.03 (3 inspectors). 

In Section (b) the state will not invest X = $150,000, and the optimal policy will be: s = $5,000, p = 0.05 (5 inspectors). 

In Section (c) the state will not invest X = $150,000, and the optimal policy will be: s = $5,000, p = 0.05 (5 inspectors).
	   /4


Question 2 [30% of Grade]
	Section
	Answer
	Grade

	a
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	              /15

	b
	The jury might not appreciate the importance of his statistical evidence (Evidence #6), and place too much weight on the limited credibility of the eye witness.
	              /5

	c
	
	         /10

	c.1
	Without the statistical evidence the prosecutor cannot prove his case beyond a reasonable doubt.
	   /5

	c.2
	The defense attorney should argue that the statistical evidence is prejudicial against law students. More importantly, the defense attorney should argue that admitting such evidence would reduce deterrence of law students, and lead to a bad equilibrium. [Accounting for equilibrium behavior]
	   /5


Question 3 [20% of Grade]
	Section
	Answer
	Grade

	a
	The factory will construct a higher chimney and pay for it itself. The magnitude of transaction costs is irrelevant.
	              /5

	b
	The factory will construct a higher chimney. The residents will pay for it. Transaction costs might prevent the Coasian bargain. [+ The factory, feeling endowed with a right to pollute, will raise demand more money to give up this right and construct a higher chimney. This might prevent the Coasian bargain.]
	              /5

	c
	The factory might think that the residents should pay for the construction of the chimney while the residents might think that the factory should bear this cost. As a result the parties might fail to reach an agreement.
	          /4

	d
	
	         /6

	d.1
	No. The factory will construct a higher chimney at its own expense.
	   /2

	d.2
	No. The residents will pay the factory to construct a higher chimney, as long as transaction costs are not prohibitive.
	   /2

	d.3
	The endowment effect does not affect the answer in subsection (d.1). In subsection (d.2) the factory, feeling endowed with a right to pollute, will raise demand more money to give up this right and construct a higher chimney. This might prevent the Coasian bargain.
	   /2


Question 4 [15% of Grade]
	Section
	Answer
	Grade

	a
	This is an example of strategic bundling in response to consumer misperception (i) about the likelihood of purchasing the add-on; (2) about the price of the add-on.
	              /5

	b
	The glue is the inconvenience cost of leaving the hotel for food (in one of the neighborhood restaurants), for entertainment (in the neighborhood cinema), etc’.
	              /5

	c
	Bundling can enhance efficiency, depending on the type of misperception that triggered it (see answer (a)). Moreover, prohibiting bundling would force hotel patrons either to incur the inconvenience cost of going out of the hotel for these services or to forgo these services altogether.
	          /5
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